Architectural Solar LED Bollard

Installation Manual




—

ol

= SolarPath 2SPBL-SERIES

— sun solutions
Whyus?

SolarPath is dedicated to delivering

Innovative Technology

High-efficiency solar and advanced LEDs deliver architectural and commer01al-grade
SUeCiv gyt CRY Wit SRR L MO B o [ar lighting that can be customized to

Photometric meet specific client requests, both in

We conduct photometric measurements on all our technical specifications and aesthetic

products to ensure optimal performance and compliance design, ensuring a perfect fit for a

with industry standards .
e : diverse range of needs.

Versatile Lightning

We designs and install solar-powered lightning systems
tailored for all kind of locations such as streets, parks,
pathways, homes, etc.

Global Reach

Worldwide success proves our adaptability and regulatory

expertise.

Sustainable Savings

These solutions enhance safety, promote sustamability

and providing significant energy and cost saving.

Warranty
2/7




-

> SolarPath 2SPBL-SERIES
= sun solutions
Contents

Component List........coviiiiii e 3

InStallation.......ooonre e e 4

Picture 1 Picture 2. .....o.oienoeeeee e e 4

Picture 3 Picture 4. .......ooonrmeee e e 4

Picture 5 PiCture O.....ooonneieee e 5

Picture 7 Picture 8. ....oooniiiee e, 5

Picture 9 Picture 10.......oiiinii e, 6

2/7




—
g

= SolarPath’

sun solutions

2SPBL-SERIES

1. Component list

2SPBLI1, 2SPBL2, 2SPBL3, 2SPBL4, 2SPBLS, 2SPBL6, 2SPBL7, 2SPBLS, 2SPBL10, 2SPBL12, 2SPBL16 series:

item component quantities image remark
)
1 Solar bollard 1PC [
} \
] \
ll \
u
2 Expansion bolt 3 PCS ii optional
3 Metal holder 1PC optional
| |
fwf U ”
2SPBL11, 2SPBL15 series:
item component quantities image remark
1 Solar bollard 1PC
2 Expansion bolt 4 PCS optional
3 Anchor bolts 1PC optional

2/7



—
.

= SolarPath’ 2SPBL-SERIES

sun solutions

2. Installation

This product has two kinds of installation:

1. For cement ground: do not need anchor bolts, use expansion bolt fix solar lamp body directly.
2SPBL1, 2SPBL2, 2SPBL3, 2SPBL4, 2SPBLS, 2SPBL6, 2SPBL7, 2SPBLS, 2SPBL10,2SPBL12,
2SPBL16 series
prepare three mounting holes, diameter 0.55 in, depth 3.34 in.

(see picture 1)
2SPBL11, 2SPBLI1S5 series prepare four mounting holes, diameter 0.55 in, depth 3.34 in.
(see picture 2)

sy _7.40 inch_
/ N L
r T T %/ ‘ “‘~: 4-20.55 inch
k. " @866inch s /U7
i j o KON ! 1
NI /o
e 3- @055 inch I i N
; - |
—
Picture 1 Picture 2
2. Use M10 bolts to fasten lamp body.
3. Cover lamp base with 1.96 inch cement
| T
M10 Nut M10 Nut
i |5h
spring washer \ spring washer
il -
flat gasket & Expansion bolt ¢ gasket /< , & Expansion bolt
Cement floor \1 g . - Cement floor
' Ao 384 tfﬁ_.fﬁ Sl ssain
“_ ¢ 0.55in hole BEARUSEN ¢ 0.55 in hole
Picture 3 Picture 4

2/7




—
-

= SolarPath’ 2SPBL-SERIES

sun solutions

@ We are recommending for soft ground: use anchor bolts to install the bollard per to the below.
1. Dig a hole, size 13.77 in(L)*13.77in(W) *7.87in(H).
2SPBL1, 2SPBL2, 2SPBL3, 2SPBL4, 2SPBLS, 2SPBL6, 2SPBL7, 2SPBLS, 2SPBL10, 2SPBL12,
2SPBLI16 series see picture 5,
2SPBL11, 2SPBL15 series see picture 6.

scotch tape scotch tape
/ Ground /
Ground / Ground . Groun / Ground
LY _ , , L . i /
1.57 inch Ef B @8 1,57 inch B g SN
} ; a 4 L P * < 4 A
? @ 7.87 inch ! a 7.87 inch
a pal 4 4 2
< a IJ/_L 2 < /AA 4
il o Nl
13.77 in*13.77 in L 1377in*13.77in -
Picture 6 Picture 5

2. As above picture 5 and picture 6, wrap screw thread with scotch tape to prevent cement, then put metal
holder in the middle of hole, adjust the best position.

3. Cover metal holder with cement, and preserve 1.57 “ screw pole.

Use level ruler Adjust the position of metal holder (ZSPBLI, 2SPBL2, 2SPBL3, 2SPBL4, 2SPBLS5, 2SPBL6, 2SPBL7,
2SPBLS, 2SPBL10, 2SPBL12, 2SPBL16 series see picture 7,
2SPBLI11, 2SPBL15 series see picture 8)

Foot level Foot level
/ Level plate / Level plate
i /
— Ground : !—Z‘i—\ Ground v s Ground ~ -t/ Ground v
MO nut T MO nut -
[ [ o}
Picture 7 Picture 8

2/7




—

“'SolarPath’ 2SPBL-SERIES

— sun solutions

4. Put bollard on the anchor bolts, lock it using M10 nut and gasket.

2SPBLI1, 2SPBL2, 2SPBL3, 2SPBL4, 2SPBLS, 2SPBL6, 2SPBL7, 2SPBLS, 2SPBL10,
2SPBL12, 2SPBLI16 see picture 9, 2SPBLI11, 2SPBL15 see picture 10

EJ !
U
—\—rF—

—=——=c—=l

2

M10 Nut M10 Nut
spring washer

spring washer

t ]
flat gaskel sl /

Ground

Ground y

Picture 6 Picture 5

2/7




o>

v -
?\_/ 20/1al P a th
sun solutions
Contact us

e +1.201.490.4499

Toll free: 1.888.333.SOLAR (7652)

@ contact(@solarpathusa.com

@ www.solarpathusa.com

717



mailto:contact@solarpathusa.com
http://www.solarpathusa.com/

	Slide 1
	Slide 2: Why us?
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8: Contact us

